r,% i @@ Phép trir 3 chir s6

Tén: Ngay thang: Piém:____
605 384 680 564 711
-194 =722 -164 =475 -426
949 590 657 568 722
-867/ -361 -389 -104 -158
301 865 461 481 808
-568 =747 -389 =172 -440
3870 498 914 675 921
-385 426 -618 =429 =475
378 612 355 /787 513

—508 —407 -118 —228 —-407
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Phép trir 3 chir s6

Tén:

605
-194
411

949
—-867
32

801
—568
233

870
—385
485

878
—-508
370

@, LR

630
-164
516

657
—389
268

461
—389
72

914
618
296

355
-118
237
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Ngay thang:

564
—-475
389

568
-104
464

481
=172
309

675
-429
246

787
—228
559

711
—-426
285

722
—-158
564

808
~440
368

921
~475
446

513
-407
106

Piém:
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